

Sentence structure is not correct
The second sentence of thesis statement is not clear


/LL\/ Qind Ogsgu g m«fi, '\r\q\rw'onc\. o Q
C)\(\;oxq A gnuxp R
C(\ \QAdﬂ QJ_ 0

) etk af  avdlen
) Childyen m\Qu ove

b _%‘1(\ Ot("D(& O\Q\[QQ\A(D (& 7‘(\0“%‘ - . 9 €
/&\, \/ \J ng_h&_ r&r(\ }.C ' 4

: AQAAQ%Q Lo KnQEquaah@_&m%_ﬁﬁM&

Ao Snldcen /
C\\ Poote)(\\?% q\nmﬁagl Q4
coxenFing <) '
\n\ W
YOO kpc\c}\mq Cechnie _
___C__\__XL_\QQB 0\a® XA c«dﬁ\/\\neﬁ = \ag
ran&g&@c—& ko orlhence Oko\r)gem’ ;

Work on verbosity
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Bring more innovative arguments in ur outlines
Work on verbosity 
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How is the authoritative parenting helpful in

Improving the creativity-amotg-the-chidien "



How is the authoritative parenting helpful in improving the creativity among the children




